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Y [m] 00 X [m]

040000 1(10) 050000 2(20) 060000 3(30)
01:00100000 0001 0O03:00100000(@0002) 0500100000 (@000 3)
x(m) | y(m) | z(m) | P k x(m) | y(m) | z(m) | P k x(m) | y(m) | z(m) | P k
1.17 ] 1.00| 1.28| 31.7| 1 1.17 | 1.00| 1.28| 41.9| 1 1.17 ] 1.00| 1.28| 454 | 1
1.17 | 1.00 | 1.23| 30.1| 0.95 1.22| 1.00| 1.28| 33.3| 0.79 1.17| 1.00 | 1.23| 38.8| 0.85
1.17 | 1.00 | 1.33| 30.1| 0.95 1.17| 1.00 | 1.23| 32.7| 0.77 1.17 | 1.00 | 1.33| 38.5| 0.85
1.17 | 0.95| 1.18| 29.0| 0.92 1.17| 1.00 | 1.33| 31.7| 0.76 1.22| 1.05| 1.23| 34.1| 0.75
1.17 | 0.95| 1.23| 28.9| 0.91 1.17 | 1.00| 1.28 | 31.6| 0.75 1.22 | 1.05| 1.28| 33.9| 0.75
02:00200000(@0001) 0400200000 @0002 0600200000 (@000 3)
x(m) | y(m) | z(m) | P k x(m) | y(m) | z(m) | P k x(m) | y(m) | z(m) | P k
167 | 255| 162|484 1 167 | 255| 167|463 1 1.67| 255| 1.67|506| 1
1.67| 2.55| 1.67 | 48.3| 0.99 1.67| 2.55| 1.62 | 39.4| 0.85 1.67| 2.55| 1.72| 39.6 | 0.78
1.67| 2.55| 1.57 | 45.2 | 0.93 1.67| 2.55| 1.72| 36.7 | 0.79 1.67| 2.55| 1.62 | 39.5| 0.78
1.67| 255 | 1.72| 42.2| 0.87 167 | 2.60| 1.62| 33.1| 0.71 1.67| 2.60 | 1.67 | 35.7| 0.70

1.67| 255 | 1.77| 34.9| 0.72 1.62| 255| 1.67| 32.1| 0.69 1.67| 260 | 1.62 | 34.4| 0.68
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Y [m] 00 X [m]

040000 1(10) 050000 2(20)

07:00100000(@0001) 0900100000 @O000 2)

011:00100000 (@000 3)

Y [m]

060000 3(30)

0 0

X [m]

X(m) [ y(m) | z(m)| P k x(m) [ y(m) | z(m)| P k X(m) | y(m) | z(m)| P k
1.27 1 095 1.18| 1.49| 1.01 1.17100| 1.28|1.82| 1 1.17 | 1.00| 1.28| 2.04| 1
1.27 1090 1.18| 1.49| 1.01 1.17 | 1.00 | 1.23| 1.76| 0.96 1.17 | 1.00 | 1.23| 1.99| 0.97
1.27| 100 1.18| 1.49| 1.01 1.17 | 1.05| 1.28| 1.76 | 0.96 1.17 | 1.00 | 1.33| 1.93| 0.94
1.27 | 0.95| 1.23| 1.49| 1.01 1.17| 0.95| 1.28| 1.75| 0.96 1.12| 1.00| 1.28 | 1.90| 0.93
1.27 | 1.00| 1.23| 1.49| 1.01 1.17| 1.05| 1.20| 1.75| 0.96 1.22| 1.05| 1.28| 1.88| 0.92
0800200000 @000 1) 0 10:00200000 (C0O00 2 0O12:.00200000 (OO0 3)
x(m) | y(m) | z(m) | P k x(m) | y(m) | z(m) | P k x(m) | y(m) | z(m) | P k
1.67 | 255| 1.62| 2.82| 1.03 167 | 255| 167|281 1 1.67| 255| 1.67|258| 1
1.67| 255| 1.67|273| 1 1.67 | 255 | 1.62| 2.64| 0.93 1.67 | 255 | 1.72| 2.42| 0.93
1.67 | 255 | 1.57| 2.72| 0.99 1.67 | 255| 1.72| 2.59| 0.92 1.67 | 255 | 1.62| 2.34| 0.90
1.62 | 255 | 1.62| 2.60| 0.95 1.62 | 255| 1.67| 2.58| 0.91 1.72| 255 1.62| 2.31| 0.89
1.62| 255| 1.57| 2.57| 0.94 162 | 255| 1.62 | 2.48| 0.88 1.67| 250 | 1.72| 2.30| 0.89




0000@O00020000)

DDl 0o 2 o1 002

y=1,00, z=1.28 y=2.55,7=1.67 ¥y=1,00, z=1.28 y=2.55,z=1.67
- e =8
1o 2
2 178
au ot - s
Q. 7 Q. A es a. =2
I N A A v S A A I
e e h T | —_— e v e — el 1Bk o e e m e —
s 3 a5 % o P T o5 T 15 & s 3 55 T iz &
X [my X [mj X fmj X fm]
X=1.17, z=1.28 x=1.67,z=1.67 x=1.17, z=1.28 x=1.67,z=1.67
. : - . . 20
140 -~ \ / . e ze
. 2
e S \/\/\/\/\/v/ 2a +.75 >
a T \/\/ ] a 77 O e o =2
o - vol N e
L mr G | 55 Bl e N ——
o 2 3 a s o El £ El a B3 1 2 3 a 3 1 2 3 5
Y fmy Y [mj Y fmj Y fmj
x=1.17, y=1.00 x=1.67, y=2,55 x=1.17, y=1.00 x=1.67, y=2,55
— 28 20
5 4 - -
a2 a Qe a -
2 R =
B — 2 0.5 e
Z[mJ Z[m] Z[m] Z[m]

DlODDDDlDDDD DllDDDDZDDDD
001 00 2

y=1,00, z=1.28 y=2.55,z=1.67
=
=
a_* a.
SN VN -
15 2 T
X [myj X [mj
x=1.17, z=1.28 x=1.67,z=1.67
=
19 =
[= S a. b
1
P N I . — -
© bl 2 3 a 5 o - 1 =z 3 5
Y [mj Y [mj
x=1.17, y=1.00 x=1.67, y=2 55
2 2
o e o *
Z[m] Z[m]

DlZDDDD SEIDEID



Joduotdbbotdbotdbootdd 11

JddododoodpPpPOOOO0OOoOoooodognn

= o uny

i
Jubtdbtdidn=000bbdbobbbtbbtdgn

JoopOdO0O0OO0OnOOooooonoooounn

o000t l=000000000000
4

Jooodoo3nndoouodonna
100o0o0ogoobooobongdoDnn



0000a(r,y, 20000000 12

rOoOooooooogod

4
v,joboooooooooooobon

000000000 as(z,y,2) 000000000000
0000 as(z+dr,y+dy,z+dz)0 000 OO0ON

4
0000 as(x,y,2) 0000000000

Ogo0odoooibooobdoododgod
as(r,y,2) 0000
U
O00000 zOOO dzO000O0000O00O0O0O
000000000000 as(z,y,z2+d2)00
0 O

4
guobgobobgooouobobnoood 013z000O 5cmOd00 -0000000000




00000000000 (@Q) 13

e, Tl

TTWWWM llllll UETLTLTLT
1 Mot I Wl WT I, I




00000000000 Q) 14

oobo 1lbzogooobobobobobbboboboobooooobobooboog

4
000010000 z0000000000000000 as(z,y,2) 00000000

4
Ooo0ddb pPO0O0O0DODOO0ODLO =zOOODODOOODOO

00000000 =00000000000000000 as(z,y,2) 000000000
4

300 dodod g

o

o

019z000 5(cm)000 (D000 1) 013z0OO 5(cm)J00 (0OO0 2)



L1 O] [ 15

oo ddobobotddooootdodd
Jooddoodoodoododiloodddn
Jooooooodoouooood 200300
Jodooobootododbooon g

bbbt tdbotdotdn



